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1 dA=d

1) & Al AFZE235 1,200 x 1,200
2) 7| 2 Al RSP ES

N ERY S

©SGMHESZT oyt = 1800 kN/m3
ysub = 8.00 kN/m3
yw = 10.00 kN/m3
@ LWf £ otz 2z : ® = 30 deg
® EYA=F D ERNELAH+HE
Ko = 1 - sin®
= 1 - sin 30 = 0500
=-HE NXK| 10

- NX| S LR OHEZH2 X|SHE O 7L fle 2A 2 &
2 |
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250 Qg XEHO[H 7} e ER0= &5 HESHOOF

4 st F
® 1YAE
* e Zt vya = 2300 kN/m3
* HZ E3EE . y¢ = 2500 kN/m?
* B ZJFE yc = 23.00 kN/m3
® #e3 DB- 24 =g
- gB1E2 10kN/m’E M3
5 Of & Z o D = 80 m
6) Xlst9l: 2 HEME AT Z=U0| HFEX| @2 JEOIER, X|5t=fl= 222 HEg

7) M2 HjZ : HD13@200 ( HHAZ) M3
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rw: 29| e Z2F (kN/m®) 10

h @ X8 ME (M) : 82

B : 220 HE (m?) © 16x 16x= 2.56
-U=16x16x82x10 = 20992 kN

O17IM R: X8 (kN)
W M Q] X+E (kN)
F Mz Pt Sote| FHOME (kN)

2) TFxE=O XS AL

-A BN ;0 (16x16x02)x25 = 12.8 kN
- RN ((16x16x8)-(12x12x8))x25 = 224 kN
-StERN : (16x16x02)x25 = 12.8 kN

249.6 kN

3) W Tt Foteo| orE

F=Ux X(fsxAl) = 29560 kN
fs = otand
o= Fo B x P =10 kN/m2
§: =1} 23| EYETIO| OpErZt (=30°)
fo: CHOIRITE U RO O = 577 kN/m’
U-Zs 8 = 640 (m)
AT e = 8m

33tHAE
-EXSE R:W + F = 5452 kN

- 0P8 F=R/U = 5452 /20992 = 260 >10 —-—- 0K
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1) n@sts  (X[5t7 giSm) - CASE1
O = X : 0.200 «x 18.00 = 3.600 kN/m?2
S 3600 kN/m?
2) E (XI8t=7} gi2) - CASE 2
* HMXEAAL Ko = 1 - sin 30 = 0500
ql
o
o
o0
i ~
I
<
q2
@ NEY
ql = 05 x( 0300 x 1800 ) = 2.700 kN/m?2
g2 = 2700 + 0.5 x 7800 x 18.000 = 72900 kN/m?2
3) nd™stE (XIst=7t ASM) - CASE 3
O = X : 0.200 «x 8.00 = 1.600 kN/m?2
S 1600  kN/m2
4 E o (X847t YsMW) - CASE4
* HMXEYAL Ko = 1 - sin 30 = 0500
ql
o
o
[e0]
i ~
1
<
q2
Q@ dEY
ql = 0.5 x ( 0300 x 8000 ) = 1.200 kN/m?2
g2 = 1200 + 0.5 x 7.800 x 8.00 = 32400  kN/m?2
5 &35 = - CASE 5
@ X EX|SIESS - DB- 24 =Hg
@ 9zstE U F5HE  (EL FAt 0200 m O|EZ2 )
P, = 10.000 kN/m?

Py = 5000 kN/m?



6) = + ¢ - CASE 7
gwhl
o
o
e}
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=
gwh
gwhl = ( 0200 + 0100 )x 1000 = 3.00 kN/m?
qwh2 = 300 + 7800 x 10.000 = 81.000  kN/m?
7 5+ - CASE 8
@ dezeo 2gste g
gwl = 0200 x 10.00 = 20 kN/m?
@ ehea=o e £
gw2 = ( 0200 + 800 ) x 1000 = 820 KkN/m2
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1) Sssts HEA
SIEERF QMR
otz f:‘g o AF | =" | U=
COMEB 2H | X8k | x|k &5ts S| = | ==
SRS Bl H
COMB -1 14 14
COMB -2 14 14 14
COMB -3 1.2 16 16 16 16 1.2
COMB -4 1.2 16 16 16 1.2
COMB -5 1.2 16 16 16 16 16 16 12
COMB -6 1.2 16 16 16 16 16 1.2
COMB -7 12 1
COMB -8 1.2
COMB -9 0.9 16 16 16
COMB - 10 0.9 16 16 16 16 16
COMB - 11 1.2 16 16 0.8 0.8 1.2
COMB - 12 1.2 16 0.8 0.8 12
COMB - 13 1.2 16 16 0.8 0.8 16 0.8 12
COMB - 14 1.2 16 0.8 0.8 16 0.8 12
2) AE3tE HEA
SIEEF axsE
soiz ffg o Ax | =" | U=
TH | XISt | XISt 2otE = | =2 | =%
coMm8 NS £ H
COMB -1 1.0 1.0
COMB -2 10 1.0 1.0
COMB -3 1.0 1.0 1.0 1.0 1.0 1.0
COMB -4 1.0 1.0 1.0 1.0 1.0
COMB -5 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0
COMB -6 1.0 1.0 1.0 1.0 1.0 1.0 1.0
COMB -7 1.0 1.0
COMB -8 1.0
COMB -9 1.0 1.0 1.0 1.0
COMB - 10 1.0 1.0 1.0 1.0 1.0 1.0
COMB - 11 1.0 1.0 1.0 0.5 0.5 1.0
COMB - 12 1.0 1.0 0.5 0.5 1.0
COMB - 13 1.0 1.0 1.0 0.5 0.5 1.0 0.5 1.0
COMB - 14 1.0 1.0 0.5 0.5 1.0 0.5 1.0
Bto|
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2) CASE 2 - HSEE (X|st7t gl2M)
Wit
Ws
3) CASE 3 - ™ E & (X|gt=7t gi2M)
a
|
q2 s
4) CASE 4 - 2HSHE (X|sts7t JSM)
Wit
5 CASE 5 - H© E & (X|gt7t YASM)
ar [
|
q2 s

Wt

gl

g2

A

Wt

gl

g2

3.600

0.000

2.700

72.900

kN/m?

kN/m?

kN/m?

kN/m?

X}Z=2 PROGRAMLY XFE | At

1.600

0.000

1.200

32.400

kN/m?

kN/m?

kN/m?

kN/m?2



6) CASE 6 - & o =
Pvl
PvI
,| Phi Phi Phi
7) CASE 7 - 2=
! gwhl
)l e\
- wh?2
8) CASE 8 - s+ ¢
gwvl
| ! ! ! v qwvl
G N w2

10.000

5.000

3.000

kN/m?

kN/m?

kN/m?

81.000  kN/m?

2.000

82.000

kN/m?

kN/m?



ar
o+

<HETH RHEE>
< AN RHEE>

1 24.95kN-m
1 2.7 kKN-m

: 14.90kN-m
: 36.20kN-m

£
e
N
LN
<
—

: 6.69kN-m

=S
=

o
2

|
=

.I

Mg 2
o 2 :
- A

- e

1
2)



3) ot A -

- 4R
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a=Asxfy /083 xfk xb) - ]

fy? Mu
Agt - fy xdxAs + =0
2x085xfd xb il
—+ RegAs = 0309 om?
Use A5 = 8335 gn® ( 1- H13 @200), [AMSES 20502
= HIH ZE
Friin = 14/ fy = 0.00350
0.25 Xolfck / fy = 0.00419 , Pmin = 0.004193 M2
Prmax = 0.75 x Pb = 075 x ki x ©x (fck / fy) x {600 / (600 + fy)} = 003658
Fuse = As/bd = 0.00634
Pmax = Puse = Pmin - &2H| 0=, - OK
= 2 S5E5 =
M, = @A Ty (d-a2) = 20826 kN.m
ca = AsxTy /(085 xfokxb) = 0662 n
= M, = 1.050 kN.m Ok [PHHE 19.834)
F U S ZE (D= 1000 an )
Ve = 075 x1/6 xfck xbxd = 075 x L/Bx45x 100 x 10 = B3853 kN
= Vu= 6690 kN FHOEZHSTO0
Avreq = (6690-83853)x30/(400x10xad) = -7234 o
Avused = 3972 gn* (H16 -20EA, CT.C300cm)
Vs = 3972 x 400 ¥ 1000 4 3000 = 52960kN
Vimal = 2xV45/3x100x 10 = 447214 kN = 52960 kN
OWn = 080 x( 104816 + 5296) = 126221 kN = B.690 kN

0K
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O 4%
fck= 45 Mp . _.} = 400 Mﬁ . kl=0285 . & = (.85 iy = 075
B (cm) H cmj d (cm) L=E(cm) | MulkN.m) Wu (kM)
100.000 26.000 16.000 10.000 24950 2700
Mu/@=Asxfy /id-32) - all
a=Asxfy /OB xfk xb) -———-—- )
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2x085 xfck xb il
— Regas = 4658 m?
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F  IH EE
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o e
=3 250 Z=

wh, = @A, fy(d-a/2) = 33749 kN.m
ca = Asxfy /(085 xfdexh) = 0662 mn
= M, = 24950 kKh.m oK [PHEE& 1353
F MO SO HE (D= 1600 an )
OVe = 075 x /6 x ¥fck x bxd = 075X 1/6 X v45 x 100 x 16 = 134164 kN
= Vu= 2700 kN - HOEnrEIe
Avreg = (2700- 134164 )x 30/ (200x16x®) = -770E m

Avused= 3972 gn* (H16 -20EA, CT.C300cm)

W5 = 3972 & A00 ¥ 1ledd [ 3000 84736 kM

Wsmax = 2xvV45/3x100x 16 = 715542 kM = B4736 kN
Mvin = 080 x( 167700 + 84736) = 201953 kN = 2700kN
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Priin = 14/ fy = 0.00350

025 Xfck /Ty = 0.00419 | Pmin = 0004193 HE.
Priax = 0.75 x Pb = 075 x k1 x ©x (fck / fy) = {600 / (600 + ©y)} = (.03658
Puse = As / bd = 0.00634

Pmax = Puse = Pmin - ™2 O, - QK

=3 280 Z=

oM, = @A fy(d-a/2) = 20826 kh.m
ca = Asxfy /(085 xfckxb) = 0662 on
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Mvn = 080 x( 104816 + 5296 = 126221 kM = 36200 kN
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B (crr) H (crm) d {crm) O =erm) MukM ) Wu (kM)
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Musm=Asxfy /d-232] - i1
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= I EE
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0.25 ¥fck / fy = 0.00419 , Pmin = 0.004193 HE.
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Puse = As /bd = 0.00396
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1 dA=d

)8 Al AbZ3% 1,500 x 1,500
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3) EEE
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4) st &
@ n¥stE
- & va = 2300 kN/m?
+ HMp =3g|E yc = 2500 kN/m?
* DO 337 E yc = 2300 kN/m?
@ g5 DB- 24 HXg
- g8tE 2 10kN/m’E & 8%
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rw: 29| e Z2F (kN/m®) 10

h @ X8 ME (M) : 7.2

B : 220 HE (m?) © 19x 19x = 3.61
-U=19x19x72x10 = 25992 kN

O17IM R: X8 (kN)
W M Q] X+E (kN)
F Mz Pt Sote| FHOME (kN)

2) TFxE=O XS AL

-A BN ;0 (19x19x02)x25 = 18.05 kN
- ARIAN ((19x19x7)-(15x15x7))x25 = 238 kN
SSFERN 0 (19x19x0.2)x25 = 18.05 kN

274.1 kN

3) W Tt Foteo| orE

F=U x X(fsxAl) =  307.15 kN
fs = o tand
o= 2o HBY x siFeE =10 kN/m2
§: =1} 23| EYETIO| OpErZt (=30°)
fo: CHOIRITE U RO O = 577 kN/m’
U-Zs ey = 760 (m)
AT e = 7m

33tHAE

- =XeE R:W + F = 581.25 kN

- 0P8 F=R/U = 58125/ 259.92 224 >10 —-—- 0K



3
1) nd™ss (XIst7t ei2m) - CASE1
® = X = : 0200 x 18.00 = 3.600 kN/m?
S 3600 kN/m2
2) E & (XIst=7t i2m) - CASE2
* MXEUAL Ko = 1 - sin 30 = 0500
ql
o
o
o0
e [Ce)
I
<
q2
O dE
gl = 05 x( 0300 x 1800 ) = 2700  kN/m?2
g2 = 2700 + 05 x 6800 x 18000 = 63900 kN/m2
3) nd™stE (XIst=7t ASM) - CASE 3
® E X = : 0200 x 800 = 1.600  kN/m2
S 1.600  kN/m?2
4 E & (X7 A=2M) - CASE4
* MXEUAL Ko = 1 - sin 30 = 0500
ql
o
o
[e0]
e [te)
1
<
q2
© dE
gl = 05 x ( 0300 x 8000 ) = 1.200  kN/m2
g2 = 1200 + 05 x 6800 x 800 = 28400 kN/m?
5) &35 = - CASE 5
@ X EX|SIESS - DB- 24 =Hg
@ 9zstE U F5HE  (EL FAt 0200 m O|EZ2 )
P, = 10.000 kN/m?

Py = 5000 kN/m?



6) = + ¢ - CASE 7
gwhl
o
o
e}
[ ©
I
=
gwh
gwhl = ( 0200 + 0100 )x 1000 = 3.00 kN/m?
qwh2 = 300 + 6800 x 10.000 = 71.000  kN/m?2
7 5+ - CASE 8
@ ams=o) gt ¢
gwl = 0200 x 10.00 = 20 kN/m?
@ sRs=0| 28t £
gw2 = (0200 + 700 ) x 1000 = 720 KkN/m2
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1) Sssts HEA
SIEERF QMR
otz f:‘g o AF | =" | U=
COMEB 2H | X8k | x|k &5ts S| = | ==
SRS Bl H
COMB -1 14 14
COMB -2 14 14 14
COMB -3 1.2 16 16 16 16 1.2
COMB -4 1.2 16 16 16 1.2
COMB -5 1.2 16 16 16 16 16 16 12
COMB -6 1.2 16 16 16 16 16 1.2
COMB -7 12 1
COMB -8 1.2
COMB -9 0.9 16 16 16
COMB - 10 0.9 16 16 16 16 16
COMB - 11 1.2 16 16 0.8 0.8 1.2
COMB - 12 1.2 16 0.8 0.8 12
COMB - 13 1.2 16 16 0.8 0.8 16 0.8 12
COMB - 14 1.2 16 0.8 0.8 16 0.8 12
2) AE3tE HEA
SIEEF axsE
soiz ffg o Ax | =" | U=
TH | XISt | XISt 2otE = | =2 | =%
coMm8 NS £ H
COMB -1 1.0 1.0
COMB -2 10 1.0 1.0
COMB -3 1.0 1.0 1.0 1.0 1.0 1.0
COMB -4 1.0 1.0 1.0 1.0 1.0
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COMB - 12 1.0 1.0 0.5 0.5 1.0
COMB - 13 1.0 1.0 1.0 0.5 0.5 1.0 0.5 1.0
COMB - 14 1.0 1.0 0.5 0.5 1.0 0.5 1.0
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9. TtH A

E
) &% FH:

fck= 45 Mp. , fy= 400Mp , kl=085, of = 085, @v =075
B (crm) H (o) d (crr) o) =) MLkM.) WU (kM)
100.000 20,000 10.0:00 10.000 3770 13780
Mu/@=Asxfy /id-3a2 = = i1
a=Asxfy /DB Sxfck xb) -—--—emme- (2]
2E LN LETHH R ETHES AsE 720
fy: Ml
As? - fy xdx A+ =0
2x085xfk =xb i}
— Regas = 1115 m?
Use &s = @335 gp® ( 1- HI3 @200), [AEE 5682]

F @I EE

Frnin= 14/ fy = 000350

025 Xk /iy = 0.00419 | Pmin = 0.004193 HE
Pmax = 0.75 x Pb = 075 x ki x @x (fck / fy) x {600 / (600 + fy)} - 003658
Puse = As /bd = 0.00634

Pmax = Puse = Pmin — @324 I, - OK

= 2 58 ZE
o, = DA fyid-a2) = 20826 kN.m
;2 = Asufy /(085 xfdkx ) = 0662 am
= M, = 3770 Km 0K [9FHE 5524)
F A SHO HE (D= 1000 an )
Dvc = 075 x1/6 xvick xbxd = 075 x 1/6 x V45 x 100 x 10 = 83853 kN
= VU= 13.780 kN S FCHE=E0
Avreq = (13780-83853 Jx 30/ (400 x10xq) = -6.569 m

Avused= 3972 gn® (H16 -20EA, CT.C300cm)

Vs = 3897 x 400 ¥ 1000 s 3000 52960 kN

Vs maK = 2xv45 /3x100x% 10 = 447214 kN > 52960 kM
ovn = 080 x (143816 + 32.96) = 126221 kN = 13780 kM
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20.000

10000 30470 1510

Mu/@=Asxfy /(d-am)
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= 2 358 EE
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Avreq = (1510-167.705)x 30/ (400 x20 x® )

3972 g
387 x

(H1E
400

Av used =
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0.00350

0.00419 | Pmin = 0.004193 HE
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A2 365 kM.m
0ee2 an
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025 Xk /iy = 0.00419 | Pmin = 0.004193 HE.
Prnax = 0.75 x Pb = 075 x ki x @x (ick / fy) x {600 / (600 + fy)} = 003658
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= M, 15320 kM.m OK [PEHE 1359
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= oH 25

Pmin= 14/ fy = 0.00350
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= I 280 HE

o, = @A, fy (d-a2) = 33749 kMN.m
ra = Asxfy /(085 xfkx b = 0662 on
= M, = 17.250 kh.m Ok [9FH& 1952
= U S8 ZE (D= 1600 am )
o 075 % 1/6 xfck x bxd =075 % 1/6 x V45 x 100 x 16 = 134164 kN
= Vu= 30110 kN S FOEEZt=EE0
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Avused = 3972 gn* (H1E -20EA, CTC300com)
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1 dA=d

1) & Al AFZH43 1,800 x 1,800
2) 7| 2 Al RSP ES

3) EFE

@ ERNMEESE yt = 18.0
ysub = 800
yw = 10.00
@ uy=RoEd : 0 = 30
@ EYAF HAEAA S ML
Ko = 1 - sin®
= 1 - sin 30
ZHE NX| 10

- NX|
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4 3 F
© 23¥sE
* En Zt vya = 2300 kN/m3
* HMZ EIEE : yc¢ = 2500 kN/m3
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® %3 DB- 24 Hg
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rw: 29| e Z2F (kN/m®) 10

h @ X8 ME (M) : 6.2

B : H&{o HE (m?) © 22X 22x= 484
U= 22x22x62x10 = 30008 kN

O17IM R: X8 (kN)
W M Q] X+E (kN)
F Mz Pt Sote| FHOME (kN)

2) TFxE=O XS AL

- AR (22x22x025)x25 = 30.25 kN
- RN ((22x22x6)-(18x18x6))x25 = 240 kN
- SFEAN (22x22x025)x25 = 30.25 kN
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3) W Tt Foteo| orE

F=Ux Z(fsxAl) = 304.84 kN
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o= BO| HIYIBEY x SfYHE = 10 kN/m2
§: FIt 2A2ETHO| OpEY (= 30°)
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Al el ME = 6m
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-OtME F =R/ U= 60534 /30008 = 202 >10 —-— 0K
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@ NEY
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3) AMEE  (RISt7t Yem) - CASE3
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7 5+ - CASE 8
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COMEB 2H | X8k | x|k &5ts S| = | ==
SRS Bl H
COMB -1 14 14
COMB -2 14 14 14
COMB -3 1.2 16 16 16 16 1.2
COMB -4 1.2 16 16 16 1.2
COMB -5 1.2 16 16 16 16 16 16 12
COMB -6 1.2 16 16 16 16 16 1.2
COMB -7 12 1
COMB -8 1.2
COMB -9 0.9 16 16 16
COMB - 10 0.9 16 16 16 16 16
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COMB - 12 1.0 1.0 0.5 0.5 1.0
COMB - 13 1.0 1.0 1.0 0.5 0.5 1.0 0.5 1.0
COMB - 14 1.0 1.0 0.5 0.5 1.0 0.5 1.0
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T BWIH EE
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= Wu= 24290 kN . HOEZZZo
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